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Why did king Charles lose the Civil War by 1649?



Task 1

Read through the following heads and tails of sentences. The heads are in order, match them to the correct tail and write out the paragraph.

	Heads
	Tails

	Charles I became King in 1625, but by 


	head in 1649!

	This caused a civil war in England from 1642 to 1646, 
	a weaker army, less friends and less money.

	Charles I lost the civil wars, and his 
	1640 Parliament set about cutting down the power of the king.

	There are many reasons why Charles lost the Civil wars including 
	and then again in 1648.



Task 2

Copy the table below and then summarise the  main reasons why Charles I lost the Civil War by 1649, by using information from the textboxes in Task 3.

	
	The reasons why Charles I lost the civil war by 1649.

	Charles’s army was 

weaker.
	1

2

3

4

	Charles had less 

friends to help his 

side.
	1

2

3

4

	Charles had less 

Money.
	1

2

3

4


 

Task 3

There are a number of reasons which help explain why Charles I lost the Civil Wars. These included a weaker army, less friends and less money. Read through the text boxes below and decide what type of reason they support.











Task 4

Read through the textboxes again and decide which you think are Charles’s four main reasons in losing the Civil war. Then complete your own copy of the diagram below.






Task 5

Complete the following question using all your thoughts and ideas from the previous tasks and the writing frame below.

“Charles I lost the civil war mainly because Parliament had more money”. Do you agree?

I agree/disagree/partly agree with this statement.

· There is evidence to suggest that money was an important reason why Charles I lost the Civil war by 1649. For example..

· However there were also other reasons that explain why Charles I lost the civil war by 1649. For example..

· I think the most important reason that Charles lost the civil war was

In conclusion
Charles thought the other kings and queens in Europe would send him money and support. None of them chose to do this.





One of the most important Royalist generals was Prince Rupert of the Rhine. He often made decisions without thinking them through and was not always in full control of his men.





Oliver Cromwell was the most important Parliament general. He had well thought through tactics and his troops were well disciplined. He formed the New Model Army in 1645.





Charles had plenty of rich landowners who backed him, but they could not afford to support a long drawn out war.





Parliament controlled London with all it’s rich merchants and quantity of trade.





In 1643 Parliament made an offer to Scotland that if they won the Civil War they would set up a Presbyterian Church in England similar to the one in Scotland.





The New Model Army run by Oliver Cromwell was an efficient fighting force. It was well drilled, well fed, well paid and well equipped.





The Scots never forgave Charles for forcing them to use the English prayer book so they sent 20,000 men to fifght on Parliaments side.





Parliaments Army won the key Battles in the Civil war; Marston Moor in July 1644, Naseby in June 1645 and Preston in 1648.








Parliament was very experienced and efficient in collecting the taxes from the areas it controlled.











The King could not afford to raise another large army after many of his men were killed at Naseby.





Although the Scots changed sides in 1648 and supported the King at the Battle of Preston, Charles friends were simply not strong enough to help him win the Civil War.
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